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g ff K 4 OUT | IN |[TOTAL|HDCP| NET
& B g 37 | 37 | 74 | 27 | 7113
@ A& 15 38 | 38 | 76 | 45 | 715
3 fi AH #EE 40 | 38 | 78 | 6.3 | 71.7
4 B = 41 | 39 | 80 | 81 | 71.9
5 fi BA RE 45 | 41 | 86 | 11.7 | 74.3
B-G £- 37 | 37 | 74
2H E—H¥#% A B B F
TI— - FKTA FDER
g ff K 4 OUT | IN |[TOTAL|HDCP| NET
&= B EiE — 38 | 39 | 77 | 72 | 69.8
B R 8h 44 | 39 | 83 |10.8 | 72.2
3 NE = 40 | 43 | 83 | 108 | 72.2
4 fi LtH E#A 42 | 40 | 82 | 9 73
5 fif ik & 42 | 39 | 81 | 7.2 | 738
B:G EiE — 38 | 39 | 77

2H E—H¥#% B K Bk £ F
d—)LE-LyE-EVODE
Sf3gE2A78
=4 iv2 K & OUT | IN |TOTAL[HDCP NET
&= B B —1& 46 | 45 | 91 | 225 | 685
BB TE RE 42 | 44 | 86 | 17.1 | 689
3 i it o= 48 | 51 | 99 | 270 | 72
a4 fii | EIE EHF | 50 | 49 | 99 | 26.1 | 72.9
5 fI Tk ALB 43 | 47 | 90 | 16.2 | 73.8
B-G | JTEHE |42 | 44| 86
2H E—H¥#% B K Bk £ F
TI—-KTAL FDER
g ff K & OUT | IN |TOTAL[HDCP NET
& B TE i 50 | 46 | 96 | 27 | 69
LB xR aE 43 | 45 | 88 | 15.3 | 72.7
3 i fE A & 45 | 52 | 97 | 234 | 736
4 fi b i 44 | 48 | 92 | 18 | 74
5 fI 2K &A 45 | 47 | 92 | 17.1 | 749
B-G xR baE 43 | 45 | 88
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